8. (Section 5.5) Compute fol e=te" dr.

e(e'l‘1 -1)

b. e

c. e*!

d. e

e. (e—1)e!

9, (Section 6.1) Which of the following represents the area between the two curves y = sin(z) and
y = cos(z) in the interval 0 < z < 57

o / " (sin(:c) - cos(:c)) do
b. f (cos - sin(:z:)) dzx

c. ﬂ-/')_/ (sm(a:)+cos( )) dx

/2

@ f (COS(.’L’ - sm(a:)) dz + fm (sin(m) - cos(:z:)) dz

10. (Section 6.2) The definite integral f: wy dy represents the volume of which of the following
solids?
a. The region bounded by the y-axis, x = /¥, and y = 2, rotated about the y-axis

@ The region bounded by the y-axis, x = /7, and y = 4, rotated about the y-axis
c. The region bounded by the z-axis, ¥ = /7, and = = 2, rotated about the z-axis
d. The region bounded by the z-axis, y = /T, and = = 16, rotated about the z-axis

11. (Section 6.5) Which of the following represents the average of the function f(z) = cos®(z?)
over the interval from z = O toz = 7/2?

(@2 f(e)da
b. fﬁz zt:)dm

f(n/2) -
C. 71'/2

f(=/2)f(0)

12. (Section 7.1) Using integration by parts, we see that [ = Inz dz is equal to which of the follow-
ing?

lnz z
@[5«




[~

z® z
2 Inzx

c. 7 —-/ld:c
22

d. 3~/lnxd:z:

13. (Section 7.3) While solving a trigonometric substitution question, we find z = tan@, where
0 < 6 < w/2. Which of the following is equal to cos(#)?

a. vri-=1

1 1
b.;+—

r+1

CE:=

d z2-1

V2

14, (Section 7.3) To compute the definite integral f02 V9 = 22 dx, which of the following substitu-
tions could be used?
:1: — 3sin(f) and dz = 3cos(d) df
b. x = 3tan(#) and dz = 3sec?() df
¢c. ¢ = 3sec(f) and dz = 3 sec(f) tan(f) df
d.z=9-—6%and dxr = -26d8

15. (Section 7.8) What is wrong with the computation

Lge—tnfel]' =1In(2) - in(1) = 07
_/_;r:- :t:—n|a:|]_l~—n(1)—n()— ?

1
a. The function In |z] is not an antiderivative of L.

@The function % has an asymptote at = = 0 so we should have used an improper integral.
c. We are missing a “+C", so the final answer shouldbe 0 + C = C.
d. The value In(1) is not defined, so we can’t say In(1) — In(1) = 0.

16. (Section 11.4) Consider the series

001 =1
A dB: )
;Qk—lan N ;3/&4—1

Which of the following is the true statement?
a. Both series converge.

b. Both series diverge.

c. Series A converges and series B diverges.



